[QTT1000

& 2000 ACTUATORS

BOx”
1.18

TERMINAL COVER

ali

g =
|
o 1Y
.—v'\
! ¥a Y
; = —<————ah _
LD|'m
&) O~ |
(g@ <
R e =
oM
128 312
5.047 12.28" 41%5 54555”
52
2.05" 169.?
DISPLAY WINDOWAN 6.67
i
A
o >+I 4 7
) m A
<o W olia -~
™[~ IS m| ™
m|m LN ® | m|m
- i3 -1 ;Mo —
D7 o k JIE
o %[l: QR " O | o Sk(g
T A
—|< 4 ‘
T T I
OPTIONAL OIL PLUG AJ/
STOP BOLTS L
= ., OPEN/CLOSE
NAME PLATE $6.8(0.27") EARTH SWITCH LOCAL/REMOTE/

POINT STOP SWITCH

OPTIONAL CONDUIT
ENTRIES.

OPTIONAL OIL PLUG
(BEHIND HANDWHEELD

HAND AUTO LOCKING .
BOLT HOLES 6.5 (1/47)

HAND AUTO LEVER

VIEW ON ARROW

48 CofG
1.897

p

CONDUIT ENTRIES

@E

TAPPED 2xM25x1.5p
(OPTIONAL ADAPTORS FOR
M20,1/27,3/4" ,17NPT,
PG16 & PG21)

/47,1 1727,

OPTIONAL OIL PLUG

NOTES:
:REGISTERED DESIGN 000034863

F12/FA12 /FT4/FAT4 BASE OPTION

IS DETAILED TO SUIT THE RELEVENT
COUPLING ARRANGEMENTS.

rotori

[QT1000, 2000 DATA

Date 180305 Scale 1:10

IQT2-3

AA



[QTT1000,

2000 BASES

F12 / FATZ2 BASES

F12 BASE DETAILS

4 HOLES M12x1.75px22 DP
EQUI-SPACED ON A 125 PCD
(IS05211 F12

NOTE POSITION OF 2
M6 CAPSCREWS. REMOVE
IN ORDER TO WITHDRAW
DRIVE COUPLING.

FA12 BASE DETAILS

4 HOLES 1/2"-13UNC x 22 DP
EQUI-SPACED ON A 4.95" PCD
(MSS SP-101 FA12)

NOTE POSITION OF 2
M6 CAPSCREWS. REMOVE
IN ORDER TO WITHDRAW
DRIVE COUPLING.

hfifiiififififififw

! #60 MAX (KEYED SHAFT)

‘ 2.36" !

| 41 MAX (SQUARE SHAFT)

‘ T.61° ‘

| |

| ! |

. == |
U>é = |,

- =iz |

| ol

‘ |

|

F12/FAT2 COUPLING DETAILS ‘

F14 / FAT4 BASES

F14 BASE DETAILS

4 HOLES M16x2.0px22 DP
EQUI-SPACED ON A 140 PCD
(IS05211 F14)

NOTE POSITION OF 2
M6 CAPSCREWS. REMOVE
IN ORDER TO WITHDRAW
DRIVE COUPLING.

FAT4 BASE DETAILS

4 HOLES 5/8"-11UNC x 22 DP
EQUI-SPACED ON A 5.5 PCD
(MSS SP-101 FAT4

NOTE POSITION OF 2
M6 CAPSCREWS. REMOVE
IN ORDER TO WITHDRAW
DRIVE COUPLING.

T“’f‘44’7‘4477‘44’7‘44’7‘4477‘4477‘44’7‘4477W

! #60 MAX (KEYED SHAFT)

‘ 2.36" !

| 41 MAX (SQUARE SHAFD)

‘ 1.61° ‘

‘ |

e |

| “ |
© é PVE S

‘ N dlg =8 ‘

| @

‘ F14/FA14 COUPLING ‘

|

DETAILS ‘

rotori

[IQT1000, 2000 BASES
Date 210605 Scale 1:10

IQT2_BC-2

AA



